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The Factor Theorem
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Because of the factor theorem if we know

a solution we know a factor and visa versa.

We can also use the factor theorem

to Solve Cubic Equations

13. Given f(x) = 2x* + 13x? + 13x — 10. 23
Show that f(—2) = 0 and hence find the three factors of f(x).
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17. Solve each of the following equations

(G) x3 —4x>— x + 4 ==
(iii) 3x® — 4x? — 3x + 4 ==
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17. Solve ecach of the following equations

() x* —4x?> — x + 4 ==
(iii) 3x® — 4x? — 3x + 4 ==

Gi) x* + 2x? — 11x — 12 =°
(iv) x* — 7x — 6.=o
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(i) x® +2x2— 11x — 12 =°
(v) x* — 7x — 6.7
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17. Solve each of the following equations
(i) x* —4x?> — x + 4 == Gi) x* + 2x? — 11x — 12 =°
(iii) 3x® — 4x> — 3x + 4 == (iv) x* —7x — 6.=o
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17. Solve ecach of the following equations
(i) x* —4x?> —x + 4 == Gi) x> +2x>— 11lx — 12 =°
(iii) 3x® — 4x? — 3x + 4 == (iv) x> —7x — 6.==
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18. If (x + 1) and (x + 3) are both factors of 2x* + ax? + bx — 3, find the

values of @ and b.
Find the third factor and hence solve the equation 2x* + ax?> + bx — 3 = 0.
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